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Equivalent en 1 de 𝒇(𝒙) = 𝒙𝒙 − 𝒙. 

𝑓(𝑥) = 𝑥𝑥 − 𝑥 = 𝑓(𝑥) = 𝑥(𝑥𝑥−1 − 1)~1𝑥
𝑥−1 − 1 = 𝑒(𝑥−1)l n(𝑥) − 1~1(𝑥 − 1) ln(𝑥) ~1(𝑥 − 1)

2.   

 

Equivalent en 0 de 𝒇(𝒙) = 𝒔𝒊𝒏(𝒍𝒏(𝟏+ 𝒙)) − 𝒍𝒏(𝟏 + 𝒔𝒊𝒏(𝒙)). 
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Equivalent en 0 de 𝒇(𝒙) = 𝒙𝒙 − 𝒔𝒊𝒏(𝒙)𝒔𝒊𝒏(𝒙). 

𝑓(𝑥) = 𝑥𝑥 − sin(𝑥)sin(𝑥) = 𝑒𝑥𝑙𝑛(𝑥) − 𝑒sin(𝑥) ln(sin(𝑥)) = 𝑒𝑥𝑙𝑛(𝑥) − 𝑒
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𝑥→0

𝑒𝑥𝑙𝑛(𝑥)=1.
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Equivalent en +∞ de 𝒇(𝒙) = (𝒍𝒏(𝒙))
𝟐
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Alors 𝑥 =
1

𝑡
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𝑡
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𝑓(𝑥) = 𝑒.  
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Donc, lim
𝑡→0

𝑔(𝑡) = 𝑒 et ainsi, lim
𝑥→+∞

𝑓(𝑥) = 𝑒. 

 


